D-8588 Sub. Code
31011/33511

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

First Semester
MANAGEMENT CONCEPTS
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Define management.

Cerearennanl eueFuUm&GsSe]Lb.

2. What is planning?
SO ed erammmed erevme ?
3. Define budget.

cure| QFa] LIl Iguieh eUaTLDISSeLD.

4.  Write the types of organization.

S WLUILINET CUMSEHEET 6T(LYSIMbISHET.

5. What do you mean by delegation?
Grdlbldlsgiebd eremmmed ereime ?

6. What is staffing?

venflwimer HlUIOGTLD GTETMTE 6T6bTen ?



10.

11.

12.

Write the types of communication.

556160 CSMTLITL| QUMSHEET 6T(LPS)IHBISET.

How importance of controlling in an organization?

@ Hlneuarsdd sl HLiLbhSgeuse (PSS LSSHGUD 6TeTen ?

Mention two characteristics of direction.

Sevguller @rarr(h LeTLS®eTs GO HBISET.

What is a management audit?

@ Coerarend safléams cramnmed eTemer ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

(a)

(b)

(a)

(b)

What is management and write its scope of
management?

Cuenamens  erammmed  ereman?  gen  GeOTETEND
Crrésssms eT(psimnis.
Or

State the evolution of management.

Cueramenouler Liflemmo euerTéSlenuids &nminigser.

What is the process of planning?

Sl e Qewepenm ererer ?

Or

How the policies frame in good organisation?

1) Sl e QETETENHSET GTEUGUM)
eUlg I LDEELILI(H &l et e ?
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13.

14.

15.

16.

(a)

(b)

(a)

(b)

(a)

(b)

Define organization. Write the nature of
organisation.
SiblmL  UdTUNSSeD. ewlider Serennanw
CT(LPGIMIGET.

Or

What are the important points consider for
delegation of authority?

Sfamr udlresE  smsHer Gamerer  Couerigw
wsHwwrer Yetaflger wraneu ?
What are the barriers of communication?
5561 QFTLTLSSTET SEnL_GHET 6T6men ?
Or
State the principles of directing.
@Qusssdler QasTaTanEEMETs FomBISET.
Define management audit how differ from statutory

audit?

Cererento S0t &enaan L UL LILfTeu
sanflasansuiedmbg  ereueurn CeaumubhiSmg ererLmS

QUM TWMIGHELD ?

Or

How business ethics helps in a business?
cuentls  Apdlpepser @ eaamilasdd  ereusumm
2 g6 |SleTmer ?

SECTION C — (3 X 10 = 30 marks)

Answer any THREE questions.

Explain the different types of organisation.

LOCaIm eUESWITET HELLIL|SEET 6ll6TE & hIGET.
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17.

18.

19.

20.

Explain the components of planning in relation to
organizational objectives.

Blneuer  CprésmseEpler  Gamiiyew S8l eden
FaMIGEET 6l 6TE G mhIGET.

Discuss the different types of functions of
departmentation.

geopuiler LLCoumy eamswurer  CFwour@semerts LDHDH
clleumdlésalLb.

Explain the Maslow’s hierarchy needs of motivational
theory.

wrevGeoreflen casss Casriumiiger ugblamas Csameuenw
Nl 6md (&) Mg e
Discuss the factors offering business ethics.

auentls  Cpdlpepsamer  eupmBIGL  sTreflsamerts  LHD
clleurdlésab.
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D-8604 Sub. Code

Time : Three hours

10.

33512

DISTANCE EDUCATION

M.Com.(Finance and Control) DEGREE EXAMINATION,
MAY 2025.

First Semester

BUSINESS LAW
(CBCS 2018 — 2019 Academic Year Onwards)

PART A — (10 x 2 = 20 marks)
Answer ALL the questions.

What is the principle of equity in mercantile law?
Define a valid contract.
What is the concept of an offer with an example?
What is meant by contractual capital?
Define coercion under the Indian contract Act.
What are the terms of “void contract”?
What are reciprocal promises?
List the types of bailment under the law.
What is the meaning of “sale and agreement to sell”?

Define a negotiable instrument.

Maximum : 75 marks



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Explain the essential elements of a valid contract
with examples.
Or

A, B and C are partners in a firm sharing profits
and losses in the ratio of 3:2:1. The firm’s net profit
for the year is Rs. 1,80,000. Calculate each partner’s
share of profit.

Discuss the essential components of a wvalid
acceptance.

Or
Explain the concept of breach of contract and the

remedies available under the Indian contract Act.

Describe the concept of “free consent” under the
Indian Contract Act.

Or
Discuss the legal position of contracts entered into
by a minor under the Indian Contract Act.

Discuss the remedies for the breach of a contract.

Or

A firm earns Rs. 1,20,000 as goodwill. It dissolves,
and partners A, B and C share profits in the ratio of
4:3:2. Calculate their respective goodwill shares.

Explain the process of dissolution of a partnership
firm.

Or

Two partners share profits in a 3:2 ratio. After
dissolution, the total capital 1s Rs. 1,00,000.
Calculate the share of each partners.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Discuss the essential elements of a contract with suitable
examples.

Explain the types of quasi-contracts under Indian law.

A and B are partners sharing profits in the ratio of 3:2.
They admit C into the partnership with a 1/5t share in
profits. The new profit-sharing ratio is agreed to be 3:2:1.

Calculate the sacrificing ratio of A and B.

Describe the types of negotiable instruments and their
characteristics.

Explain the procedure for filling an insolvency petition.
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D-8590 Sub. Code
31013/33513

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

First Semester
ADVANCED ACCOUNTING
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Define in the term accounting.

SEMESEIED UMTEHVESSETLD F(Hb.

2. What is trial balance?
@ BLUILTLIG GTETMITE) 6TEITET ?

3. What is double entry system?
@rleL udlay (pepm CTETMHTE 6T6bTE ?

4.  What is meant by sole trading?
SENWUMET cuantlsLD eTETmTE 6Teime ?

5. Define the term bill of exchange.

LIHHIEFF (O cumTeNOESETD F(Hs.

6. What is account current?

B (PN SETEHE GTGIDTE 6TCIGT ?



10.

11.

Credit balance
15,560

27,560

980

5,300

What is receipts and payment account?

QuDIBD CFQISHFH HEMTEHE CTETDTE 6T6TE ?

What is depreciation?

CaWLDTETD 6TETMHITE) GTETET ?

Who is consignor?

Q@IS H QFUIBT eTesTLeuT WM ?

What is minimum rent?

GODHS UL F QUTL_e0& GTEITMITE) GTEr6 ?

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).
(a) Redraw correctly the trial balance given below.
Debit balance

Capital -
Sales -
Sales returns -
Drawings a/c 5,640
Sundry debtors -
Freehold premises 7,410
Purchases 12,680
Returns outwards 2,640
Loan from Sharma -
Sundry creditors 5,280
Administration expenses 7,840
Cash in hand 1,420
Bills payable 1,000
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Debit balance Credit balance

Wages 5,980 -
Opening stock - 2,640
Factory expenses 4,650 -

54,540 54,540

&G Qar@ssuul et @@uys  Cergenarl
uligwee Flwung wpeiamre| Caus.

ummi em. QUG .

PS5 — 15,560
cllbLiener — 27,560
cllpLener SlmLiLb - 980
eThiLiy 5,640 -
& LGOI ST — 5,300
SUTCanmé® Mslevev 7,410 —
QameT(psed 12,680 -
Qeuefgd mLiLib 2,640 —
gromedlO(mhg CLHDEL6r - 2,500
sLabCHmiT 5,280 -
Blireurs Gaey 7,840 -
sl mLY Qrmésd 1,420 -
Qesgicusn@flu wrHmEE (H 1,000 -
&n.60 5,980 -
QsT_&s Fré&slmUiy — 2,640
Qsmhsrane Cawe ger 4,650 —

54,540 54,540

Or

(b) Describe the scope of accounting.
sasSlwedlen Crrasnd L afleur.
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12. (a) Journalise the following transactions.

Jan 12016 Commences business with Rs. 50,000
2 2016 Cash purchases Rs. 15,000
6 2016 Cash sales Rs. 10,000
8 2016 Purchased machinery Rs. 15,000
10 2016 Salary paid Rs. 30,000
Gemeu(pLd BL6llg&EMasEheEE GHLUCUD S(Hs.
sareufl 1 2016 Gsmple GsmmasiulLg ep. 50,000
22016 Qyrés Qamearpge ep. 15,000
6 2016 Qrrés edbuener 10,000
8 2016 Quipdlybd eurmdlwg em. 15,000
10 2016 suerd Qar®ssg en. 30,000

Or

(b) What are the differences between the balance sheet
and statement of affairs?

@muyblews @hubnseEn, HlaoubsamassEn o drer
Coumiumrhs6r wrenewu ?
13. (a) Kannan purchased goods from Raman the due date

for payment in cash being as follows

March 15 1000 Due on 18t April

April 21 1500 Due on 24t May

April 27 500 Due on 30t June

May 15 600 Due on 18t July

Raman agreed to draw a bill for the total account
due on the average due date.

4 D-8590




14.

(b)

(a)

(b)

saemen @rroefllLSl(hhg CumHLseneT  6umhidlermer
Sl uard Ceqss Coudmql HeUaenT (LPlgeuenruLd
BT &6 Yeie(momm).

LITE 15 1000 PSTe| BIeT erliged 18

gure 21 1500 7 Guw 24
gured 27 500 7 a3t 30
Go 15 600 7 sOane 18

Qumoer Smarsg OsTarss@GHh LIHMIFF H 6P
gyrefl  gseueenr prafler vewd OFausd HN(Heusns
o L arug o erar Qarer(® syrafl seuenent mraflanen
SATES (G-

Or

Differentiate between a bill of exchange and
promissory note.

LIHNEE HEGL,  wursEgnd  FHsGL o der
Coumium L& dnmis.

An asset is purchased for Rs. 50,000. Depreciation is
to be provided annually according to the straight
line method. The useful life of asset is 10 years and
the residual value is Rs. 10,000. You are required to
find out the rate of depreciation.

@m Qergg . 50,0008@ eummislUOEDG. 6m®H
Cammitd CrrGar_(H pemulled Cauimerid
s LLILGHSDG. Cersder cuTPBIET 10 6 (H &6
wHHID BHpaTer LI @F. 10,000 Y @b. Coulnmer
M&lssms ser(H Al

Or

Write difference between straight line method and
diminishing balance method.

CrrGam_(H (PdD&S D, &ODHS0FD LIy
Won&EGLD 2 drer GCoumiLimbhser.
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15.

16.

(a)

(b)

From the following details ascertain the amount of
subscriptions to be credited to income and

expenditure account for the year 2019.

Subscription received in 2019 Rs. 48,000 which
include Rs. 4,000 for 2018 and Rs. 8,000 for 2000.
Subscription due but not received at the end of the
year 2019 were Rs. 20,000.

Subscriptions received in 2018 in advance for 2019
were Rs. 12000.

emeu(md efleurmigefledl(hbgl (LMD WLHHID 6Fe
ML  FHeTESaNeT eTeneud ST HlLIG D
20191 Y emghHETar Cewe] Samrdd.

2019@\é Cupliul L &hsT eh. 48,000 @&led ep. 4,000
2018 wHMIDL 8,000 WwHMID 2,000%& 2019 Ybd
<pemriger @midluided QuPLILLTE FHSTESEET oF. 20,000,
201991b <2}, 6Tl D& TET P& g Cw 20186
QuUDLILIL L SHSTESET eh. 12,000 Dp@&LD.

Or

Distinguish between receipts and payment A/c and

income and expenditure Alc.
Qumiger LHMID CFEYSHSD &/ WOHMID  EUHLOTETD
wHpib Gewey /@ Ydweapan Capbhssis.

SECTION C — (3 X 10 = 30 marks)
Answer any THREE questions.

The following balances were extracted from the ledger of

Ramakrishna engineering works on 315t March 1997. You

are required to prepare a trial balance as on that date in

proper form.
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Drawings 6,000 Salaries 9,500

Capital 24,000 Sales returns 1,000
Sundry creditors 43,000 Purchase returns 1,100
Bills payable 4,000 Travelling expenses 4,600
Sundry debtors 50,000 Commission paid 100
Bills receivable 5,200 Trading expenses 2,500
Loan from Karthik 10,000 Discount earned 4,000
Furniture and fixtures 4,500 Rent 2,000
Opening stock 47,000 Bank overdraft 6,000
Cash in hand 900 Purchase 70,800
Cash at bank 12,500 Sales 1,28,000
Tax 3,500

31.3.1991 e prndlepent  @eralefwfn Lanflufer

CuCGrpsatie @ mhgl 19 6oreu (HLD cfleuhiger

a@ssulHeatarar. Sibs Caduler sflurer ugeugded Brhiser
@muurdey swri Qews.

erhuysar 6,000 &bUeTLD 9,500
s 24,000 @puear Hmuib 1,000
upLe sLatBCsmir 43,000 dsmeTpga Smub 1,100
QeisgisHGflu LrHmE LG 4,000 VW Dewesar 4,600
upLe sLarmaflger 50,00050 6] deqisdwig) 100
Quuosh@fwu wrHmES 6 5,200 Slwrury Geee|ser 2,500
sTiSHEE L L0l(Hhgl &Lem 10,000 8Wey QubHpg! 4,000
SMDESOET LHNID QUTNSSImS 4,500 eUMLens 2,000
Qsm_&& F7&dl UL 47,000 wmé Godeimriupm 6,000
asilmLy Qrrésn 900 QameTLpsed 70,800
aumdulmuy Gyrésib 12,500 el pLianer 1,28,000
aufl 3,500
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17.

18.

A second hand machinery was purchased on 1.1.1990 for
Rs. 30,000 and repair charges amounted to Rs. 6,000. It
was installed at a cost of Rs. 4,000. On 1st July 1991
another machine was purchased for 26,000. On 1st July
1992. The first purchased machine was sold for
Rs. 30,000. On the same day one more machine was
bought for Rs. 25,000. On 31.12.1992 the machine bought
on 1st July 1991 was sold Rs. 23,000. Accounts are closed
every year on 31st December. Depreciation is written off
at 15% per annum.

Prepare the machinery account for 3 years ending
31.12.1992.

1.1.19906 uepw Qupdyd  eummdwg @ 30,000
uguriy  Osewe] . 6,000. Cummsgised Cgway
eh. 4,000. 1.7.1991 earm sa(hged Qubslyd eurkidlwg)
. 26,000. 1.7.1992¢0 (pgedled eummSw  @Quibdlrbd
eh. 30,0008 lpasiiulLg. 6s preafld Coaib dn@Bgons
Q@M @UBSTD MBS LG fh. 25,000, 1.7.19916) eummis
@updrd 31.12.1992 etn @p. 23,0008@ eNDsLiLl L g).
@abeumm YEmHL GFDUT 3160 SasHE (PL4dHsLILHLD.
Cawirer oam(hé@ 15% CursQspduig.

Qubdlrs semsE parm BaEThHSEEsE ~31.12.1992
Swmi Cgu1s.

Ramesh keeps his book on single entry basis prepare
statement of affairs as on 31.10.1982 and a statement of
profit or loss for the period ending 31.10.1982.

Assets and liabilities 1.11.81 31.10.82

Bank balance 560 (cr) 350 (cr)
Cash on hand 10 50
Debtors 4,500 3,600
Stock 2700 2900
Plant 4000 4000
Furniture 1000 1000
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19.

Ramesh had withdrawn Rs. 2,000 during the year and
had introduced fresh capital of Rs. 4,200. On 1.7.1982. A
provision of 5% on debtors is necessary. Write off
depreciation on plant at 10% and furniture at 15%
interest on capital is to be allowed at 5%.

7Cwey sarg ghsmer ehaml USle wpepmLiLlg LFTLMSS)
QuU(mE DT, 31.10.1982lb BrCerm(H Plg-ejmid
S@ThEGHL Hlevew hsams wHmb @erl dag BL L
SflsmaEamw SuThss.

Qemsgissem LOHMID QurmiyseT  1,11.81  31.10.82

auridl @y 560 (eugay) 350 (eugey)
EATIG M AL 240 10 50
ST &HET 4,500 3,600
&S muy 2700 2900
Quim 4000 4000
<O GH D &6V G 1000 1000

grCwey Db Wamqd p. 2,000 S@pbull Qubmy 1.7.1982
Sjerm ep. 4,200 LS epogarsans ADlpsLLB ST,
CasameuiuBbd sLamalsErdsd 5% @fds&6, Qumdl g 10%
LHMID empmsoear g 15% Caulwrard CuTsQsWEs. WPS®
Bamen eul g 5% AendssriuL. Ceuam@ib.

A company leased a colliery on 1.1.92 at minimum rent of
Rs. 20,000 merging into a royalty of Rs. 1.50 per tonnes.
with power to recoup short working over the first four
years of the lease. The output of the colliery for the first
four years was 9,000 tonnes, 12000 tonnes, 16000 tonnes,
and 20,000 respectively. Give the journal entries and
ledger account for four years in the books of lessee and

lessor.
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20.

Q@M Hmeiard 1.1.92 eTm @@ HFIB&ESMS G®DHS UL g
QUL EN&WTE (. 20,0005@ HSSMEHSHS m@g_'r,gﬂ 3Gl @
LeTe&@ eh. 1.50 ererm 2 flewns Cgrensamus @enass)
s Bren@ wamhsaid @Gnslu Ceumesamer mrH6FwLD
o flento 2 eeng). (PpFd BremE@ JaTHS6Td SHrmISSS 6
2 HusH 9,000 Lemger. 12,000 Le&er, 16,000 L GT&EET,
LHMID 20,000 Lem&seT  (WpepGu  (GSSMESTIT  LHMID
&Ssms erhlueuiseflar prem@ amOE@Giu  @GHuCu®
wHmid CuGT®H samsEGsmars &(Hs.

Explain the different methods of calculation of interest

with its advantages.

LOCaum cuarswWmar el ly SESSHHL  (WPepuilenar g6

BEITENLOS @h LG0T 6l 6ITés (&8.
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D-8591 Sub. Code
31014/33514

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

First Semester
BUSINESS ENVIRONMENT
(CBCS 2018 — 2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

1. Define business environment.

QUETS GHLPEE U TLIMI&ESHE|LD.

2. What is eternal environment?

QeuefliLm GLped CTTMTE 6Tebmen ?

3. What is a capitalist economic system?

wsoreflggiel CUTHETTSTT HEHOLIL| GTETMHTE 6T6T6n ?

4. Define industrial policy.

Qzmeogiemn Camaransamw eueTLn&HESHea|b.

5.  What is meant by privatization?

ST LDWIDTESHED GTETDITED GTETET ?

6. Define consumer rights.

B&TCaunt 2 flevbgener cuapTwmISESe,LD.

7.  What is meant by globalization?

2 OSWOWIDTESHE GTETMHITED GTEITE ?



10.

11.

12.

13.

What is Foreign Direct Investment (FDI)?

<ipslw Corig pseS® (FDI) eremmmed eresren 2

Define IMF.

IMF aueopumissa]id.

What is urbanization?

B&TOWIDTESE) GTGITMDITE) 6T6I 6T ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

Explain the importance of business environment.
cuatlas Gadler (psHlusgieusms ollersEHs.
Or

What is culture in business environment?

cuanllad @GLaler SIEFFTTD GTETMHTE) 6TehTen ?

Explain the social responsibilities of business (CSR)
in business environment.

auallas Gudld gapst Curpuyenie) eumilssamns
(CSR) Nerésalib.
Or

Mention the benefits of privatization.

SETNWTTOWLOTESI6T Bemennasaner &ML aLb.

Explain the consumer rights.

B&sTCaunT 2 Menwaamer 6lleTé@Hs.

Or
Explain the industrial finance.
Qamfibgienm Bifenw eflersEs.
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14.

15.

16.

17.

18.

19.

20.

(a) What are the features of current globalization?

O OELWIDTESGIT BILDFEIFHET GTETE ?

Or
(b) What are the merits of MNCS?

MNCS & pestenoaeT erese ?
(a) Write a short note (1) IDBI (11) SIDCO.
(1) IDBI (i1) SIDCO sp&swns 6r(pse]ib.

Or
(b) Write a note on public distribution system.
MBICwrs wepm LHOIW GOILIL| eT(PSELD.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Discuss the various types of environment in business.

auamflanisaid LOGaum umsLITar Gpaals LHH edleufl.

Explain the factors governing technological environment.

QasmOOBIL L @G 2, @hh srraflamer 6ilers@s.

Explain the consumer protection Act 1986.

B&TGeuMT UTGSTUL FLL b 19868 6lleTdsa, L.

Discuss the International Monetary Fund (IMF).
greuGges pramrw Bl (IMF) upd eleurdlsseaib.

What are the current issues in business environment?

cuantls Gelld sHCLTMSWL S&saaEeT eremer ?
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D-8605 Sub. Code
33521

DISTANCE EDUCATION

M.Com.(Finance and Control) DEGREE EXAMINATION,
MAY 2025.

Second Semester

OPERATIONS RESEARCH
(CBCS 2018 — 2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL the questions.
1. Define Operations Research (OR).
2. What are the objectives of operations research?

3. Write short note : “feasible solution” in Linear
Programming Problems (LLPP).

4.  What is the importance of duality in LPP?

5. State the main features of the simplex method.

6. What is balanced transportation problem?

7. Differentiate between PERT and CPM.

8. Define “queue discipline” in queuing theory.

9.  What are the advantages of Monte Carlo simulation?

10. What is the concept of game theory with an example?



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Discuss the historical background and phases of
operations research.

Or
Explain the characteristics and limitations of

operations research.

Explain the requirements and assumptions of linear
programming problems.

Or
Discuss the applications of linear programming in

business decision-making.

Describe the different types of queuing models and
their characteristics.

Or
Discuss the constituents of a queuing system and

their significance.

Explain the transportation problem and the steps
involved in solving it.

Or
Discuss the MODI method for finding the optimal
solution in a transportation problem.

Describe the steps involved in project scheduling
using PERT/CPM.

Or

Explain the components of a network diagram in
project management.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Discuss the scope, importance and limitations of
operations research.

Explain the procedure for solving Linear programming
problems using the graphical methods.

Explain the Hungarian method for solving assignment
problems and its advantages.

Discuss the methodology and advantages of Monte Carlo
simulation in operations research.

Describe the difference between PERT and CPM and
their applications in project management.

3 D-8605




D-8606 Sub. Code

Time : Three hours

10.

33522

DISTANCE EDUCATION

M.Com.(F&C) DEGREE EXAMINATION, MAY 2025.
Second Semester

ORGANIZATIONAL BEHAVIOUR
(CBCS 2018 — 2019 Academic Year Onwards)

PART A — (10 x 2 = 20 marks)
Answer ALL the questions.
What is called attitude?
State any four characteristics of values.
What do you mean by perception?
What do you mean by organizational culture?
What is meant by groups in organization?

What do you mean by process of career planning?

How to overcome the negative impact of organizational

conflicts?
What is meant by impression management?
Write any four nature of organizational politics.

What do you mean by group cohesiveness?

Maximum : 75 marks



11.

12.

13.

14.

15.

16.

17.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

What are the types of personality?

Or

What are the functions of attitude?

Explain the importance of organizational behaviour.

Or

What are the reasons for formation of groups?
What are the organizational factors?

Or

Explain the merits and demerits of organizational
development.

What are the measures to stimulate conflicts?

Or

What are the types of emotions?
What are the good leadership qualities?

Or

Explain the different dimensions of knowledge
management.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

What are the stages of perception prices?

Explain the motivational theories of Maslow.
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18.

19.

20.

What does the Yerkes - Dodson law? Explain.

What are the merits and demerits of career planning?

Write note on : (a) power (b) authority (c) politics

(d) emotions (e) attitude.
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D-8594 Sub. Code
31023/33523

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Second Semester
ADVANCED COST ACCOUNTING
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. What are direct material?

Corlg s&am QUTHLSET GTETDTE) CTETET ?
2. What do you understand by overhead?
Cup Cewe|sear @&Msg Helili idleug wrg?

3.  What are non-monetary incentives?

LT 2616850 STENS CTETMTE TETET ?

4.  What is a differential piece rate system?

Caupui L Gouenew el cigd eremmmed ererew ?

5. List out the different overheads.
uOCaum Cupblsweysamer LiLiqwiadHs.

6. What is allocation of overheads?

Cuoh QFwe|s6T @EISED eTETMTE 6T6bre ?



10.

11.

What is contract costing?

RULBS L Ss6lame eTerLgl Wngl?

Write a note on job costing.

uanfl SLssellane @Nss Hn GHLIY cuars.

What do you understand by reconciliation of cost and
financial accounts?

Blblene samsdlwameud L sselame samsdlweameau|n &l
&L (heUg GTETMTE) GTEHTE ?

What is the need for reconciliation?

sas@Gasamer &l s (Heugen GCsamel eremer ?
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).

(a) Find out the economic order quantity (EOQ) from
the following particulars; annual usage : 6,000
units; cost of material per unit : Rs. 20; cost of
placing and receiving one order : Rs. 60 Annual
carrying cost of one unit : 10% of inventory value.
emeumd elleurriiseties @mbE CUTHETTSIT 6 (LPhIE,
semever (EOQ) seawLdlweyd, <emr® wwerum®
6,000 AOGHSET, @(F Wl (hssmer Cummeter aflena :
gh. 20, @M BT ey eauliusHEh CuneusHEHD

Q@D CQgwey : ep. 60 @ Walliger eumLmbST
&ohgl Cedgib ey : @@L LEHLILA® 10%.

Or

(b) Ascertain the profit for 2010; cost of sales
Rs. 3,00,000; profit at 20% of sales.
2010&&Ma OTUSMSS STl Plwa|bd, alpueer CgFway
eh. 3,00,000, eflpueneruieh 20% eoruLb.
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12.

(a)

(b)

The following are the particulars applicable to a
work process; time rate Rs. 5 per hour; High task 40
units per week; piece rate above the high task
Rs. 6.5 per unit. In a 40-hour week, the production
of the workers was as follows; A 35 unit B 40 units
C 41 units D 52 units. Calculate the wages of the
workers under Gantt’s task bonus plan.

Gemeupd  efeurmger e Uil  GQFwudpernsE
QurmbgIb, Crré sl Lerbd e el CrrsdnE . 5,
o Wit uewll aumpsdHE 40 Do@Gser, o wi uUamilsg
Cue giamh aleve welll H&@ ep. 6.5, 40 wentl Cwiy
aumsde, Gsmemerisefler o Husd Gemeumbmmn, A
35 @ B 40 gogsdar C 41 go@sdar D 52
Sjo@ser. Gantt@en uenfl Cumarevy L sder Eip
Qamfleorerisatien 2arfluisens sHenmsdl(HmiseT.

Or

Calculate the total earnings from the following data
under Halsey plan and under Halsey - Weir plan

Standard time : 10 hours
Time taken - 8 hours
Time rate : Rs. 2.50 per hour.

anmeodl L ger Ep wHMID aprdd - &ir HiLsHer
p Wemeumd  sreysaiad(mHg CLIEs  euHeumTeaws
SATES 6.

Blepewimer Gpymd @ 10 wearflCrird
ahsasriur L Crrb — 8 weanlGryn
Crr a8z : em wanfl CrrsdnE . 2.50
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13. (a) In a factory 3 products are made from different
materials by similar processes. For a typical period,
the production costs are as under

Product A Product B Product C
Material used 1,600 2,000 800
Direct labour cost 1,200 1,000 400
Overhead (actual) 800 650 350
Calculate the overhead charged on direct labour cost
basis as percentage.
@ Cdsmpsmeaouldr 3 Qummlser @Cr wrdlflurer
Qewepermaserred  GeucuCGeum  QurLsaiadmBbs)
swurfssiiuGdlermer. e QuTgeuTar TS DS,
o HusH Qe ser ECL @) (HS@ D
swurflig A gwurfluy B swrfliy C
LwetuhSSw e 1,600 2,000 800
Cpry Ggmfleomert Gema) 1,200 1,000 400
Codplow (2 dmemi) 800 650 350
Cmirig Qs meomert ALY SiligiuenLulled
GUEGSLILI[HID Cuéblenavenw EEEI S
SETES () MBI HET.
Or

(b) Calculate machine hour rate from the following :
Running hours p.a. 2,000 hrs
Repairs p.a.Rs. 160
Rent p.a. Rs. 320
Cost of machinery Rs. 4,000

Depreciation 7%% p.a.
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14.

(a)

Wereumeuareupdladlmbg @uipdly weallCrr aldssmss

&S (h MBI SET.

@uigh Crrd p.a. 2,000 wefl

L(pgl em. 160

eumLens emp. 320

@updrhsaier ellane ep. 4,000

Cauiorerd 7% <yem(H s,

Senthil construction company undertook a contract
for constructing a building from 1st Jan 2010.

Contract price was Rs. 1,00,000. He incurred the
following expenses.

Rs.
Materials 1ssued 6,000
Materials in hand, at the end 1,000
Wages 5,000
Direct expenses 20,000
Plant purchased 10,000

The contract was completed on 30th June 2010 and
the contract price was duly received. Provide
depreciation @20% p.a. on plant and charge indirect
expenses at 20% on wages. Prepare contract account
in the books of the company.

Qapdledr s (porer Himeiard 1 gaeufl 2010 (PS®
sligl b sl (heugharer @uUbssms CnHbsTemg.
@uubs  eflene em.  1,00,000.  jeulm  LYere(HD
Qeoe|samard Cewism.

cl'lj.
QuUITIBL_&6T GULPMBISLILIL L 6T 6,000

@sulild QurmLser, @mduid 1,000

Fa6Ol&6T 5,000
Crrg Caeyser 20,000
SENQ GUITRIGLILIL L g 10,000
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@UILBSID 30 g9t 2010 SjeTm (PigSSLILL(H @LUUBS
cllewev peppwimsls GupliLl’ L gl. yameodsE @20% p.a.
Cauibrarsens apkIGe|b WHNID wenps CFwea|samar
20% oardl g Sl cd QUG &S LD. Blmieuerssl e
Ussamsald QULBSE saTsmss SWMMésea|b.

Or

(b) The following is the summary of transactions as on
31st December, 2016, relating to a special contract
completed during the year.

Rs.
Materials brought from the market 1,500

Materials issued from the stores 500
Wages 2,440
Direct expenses 294

Office on cost-10% of prime cost.

You are required to prepare a contract account
keeping in view that material returned amounted to
Rs. 240.

31 lg-FLDLIT, 2016 SleTm) QEviw’ L
ufleursgsemersaier SHHGSHD, DABS YeTgd Hamey
Qewiul L Aply @uUubsDd QFTLuTerg).

€.
sphamguile QmbHs derar®h eupuu@b durmlsdr 1 500

sl &atd @) mhgl eupBISLILEID QUTHL &6 500
T 0l & 6T 2,440
Crry Cewaysar 294

Qeailer S@ieuasbd - Wrsmear Cgoaie 10%

Smbul  Qupiul QuT@meT @B 240  GTETLMSE
smsHL  Caremh Prsdr @UUBSS saTsEMS-G
swrilés Ceuam(hibd.
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15.

(a)

(b)

Loss as per cost appoint Rs. 1,00,000

Works overheard under - recovered in cost account
Rs. 10,000

Interest on investment received Rs. 3,000

Selling and distribution overhead over recovered in
cost account Rs. 5,000

Calculate profit as per financial accounts from the
above information.

Qaeay Bluweargdler Lig @il ep. 1,00,000

CumbleneoLs vewflaar - OFewe|s et 6D
B GLH&slul L ep. 10,000

PSS (HESTar el g ¢h. 3,000 Henl_dsg

Qeeweyds sawsdled e 5,000 WBLOLH&sLLLL
Cuebleney edlHuenar whmib aNHGuimasD

CuCe 2 drer gacudmsaiadmbg HHs sans@saflean Lig

OMUSMSE SenT&HE (D BISET.
Or

From the following data find out profit as per caste
accounts.

(1) Profit as per as per profit and loss account
Rs. 4,80,000.

(i1) Over recovery of factory overheads Rs. 5,000.

(i11) Profit on sale of assets shown in financial
account Rs. 1,000.

(iv) Dividend received Rs.2,000 appears in profit
and loss account.

Gemeumd  sreyselalmhg srdls  sams@safleriig

@orusmss serrLHluie,b.

1)  emu peyL & samsdlenig @D p. 4,80,000

(i) Qsrfbereme Coobleosmear B GLHULSD
eh. 5,000

(i11) ;Fﬂg%]aa & T & &S 6D &TC_L U1l (éTer
Qerggissefler allbLieeruier emub ep. 1,000

(iv) QupuulL Feyslsmens ep. 2,000 @TU Behl &
sasler Camemmiid.
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16.

17.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

A manufactured buys certain equipment from outside
suppliers at Rs. 30 per unit. The total annual needs are
Rs. 80,000 units. The following for the data are available.

Annual return on investment - 10%
Rent, insurance, tax per unit per year Rs. 13
Cost of place in an order Rs. 100

Determine the economic ordering quantity.

@ o HugSuwimert Slev 2 LIGTEHTIEI& 6N 6T GQeuef
sleetwigseflSl(Bbg  5.30 @@ wWellhésE. Cworss
Y @ThS Caameuser eh. 80,000 O @GSHET. WemeU(HLd ST &HeT
SevLsdlemmerr.

(PSS 1960 Yeir(h GU(HLOTETD - 10%

aurLens, &TUWH), eumLsSHD@ e wefll eufl 13

@@ % Tfe @)L sdler allena em. 100

fssar Qareripsed eraneus STorafllsseyb.

Ascertain wages of a worker under Bedeaux’s point
premium system from the following details.

Standard output per day of 8 hours = 160 units

Actual output during a day of 8 hours 200 units

Rate per hour is Rs. 5.00.

ereupid efleurmisaiadmbg Bedeaux @en yerafl Sfldlwibd
weopullear  Ep ew  Csmfeomailler  ecaflusmss
seSTLPlweid.

@@ BrEpsE 8 wafl Gpr floewrer GQeueluih = 160
S| GSHET

8 waflChrb 200 UOGSHET @I Brald 2 a@TenLWTeT
Qeuaflui

e vt Crrsdn@ ep. 5.00.
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18. Kumaresh Ltd., has three production departments A, B
and C and two service departments D and E, the
following figures are extracted from the records of the

company.
Rs.
Rent and rates 5,000
Indirect wages 1,500
Depreciation of machinery 10,000
General lighting 600
Power 1,500
Sundries 10,000

Following further details are available :
Total A B C D E
Floor space in square feet 10,000 2,000 2,500 3,000 2,000 500

Light points 60 10 15 20 10 5
Direct wages (Rs.) 10,000 3,000 2,000 3,000 1,500 500
H.P. of machines 150 60 30 50 10

Value of machinery (Rs.) 2,50,00060,000 80,000 1,00,000 5,000 5,000

@wCray OlBILGLL, A, B wpmib C dlw eperm 2 HusSHS
gepsamers  Garambererg wHmd D wombd E odw
@rah  Csmeus gpsamers  Csmear(heTeng). A6l (HD

Yemertlefleu s er Blmicuerg sl e udlesafled (mbgl
M55 &S (HeTeTer
.

QUTLana WHmID el 5,000

LDEDPS 2aFLiLd 1,500

Qundlrhsafler Cguiwmerd 10,000

Qumgy eflerd@ser 600

LU 1,500

FetorL_Tei 10,000
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Gemeu(md dn(HFed lleurmse Eenl sdlammen :

Corgsd A B C D E
sgIr Sipdld @ 10,000 2,000 2,500 3,000 2,000 500
ol Leaflear 60 10 15 20 10 5
Cprg earflud (¢5.) 10,000 3,000 2,000 3,000 1,500 500
Qupdyhsefiler eré.b. 150 60 30 50 10 -

%w)wmaﬂm 0y 9 50,000 60,000 80,000 1,00,000 5,000 5,000

19. Show that treatment of plant in contract account from the
following information

(a) Plant issued to contract on 1st January 2010
Rs. 2,00,000

(b) Plant costing Rs. 10,000 was transferred to another
contract on 30t June 2010

(¢) A plant costing Rs. 6,000 was stolen in transit and
another costing Rs. 5,000 was destroyed by fire
before installation. There was fire cum burglary
insurance to the full value

(d) Plant costing Rs. 2,000 was sold for Rs. 3,000

(e) Plant at the end of December was valued by
charging depreciation at 10% per annum.

emeumd sseuallad(mbg @UUBSS sanssle Sfsmsaws

ST (HS.

(=) sereul 1, 2010 Serm @UUBSSHME GUPEISLILILL
<O (. 2,00,000

(<) Y@ 6flened @p. 10,000 gger 30, 2010 e
HADTH FUUBSSEDE WIHDOILLLE).

(@) @M ¥ eh. 6,000 sLGH0 WLOMID LHEDTE WS
€5.5,000 Hlmeyd @per Suled erflbg BTELITG. (PP
wILILEG § LHNID QaraTens sTUNH QHHSS-

(FF)  <game allene em. 2,0008@ eSlHsLliLiLgl. 3,000

(2) wrobuT wre @QnHUed PosE YaThsE 10%
Cauinremnd eu@e&sIuL L g).
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20. During a particular year the auditor certified the
financial accounts showing a profit of Rs. 1,68,000 where
1s the same as per costing books was coming out to be
Rs. 2,40,000. Give the following information you are
required to prepare a reconciliation statement showing
clearly the reasons for the gap.

Trading and profit and loss account
Particulars Rs. Particulars Rs.

To opening stock 8,20,000 By sales 34,65,000
To purchases 24,72,000 By closing stock 7,50,000
To direct wages 2,30,000
To factory overheads 2,10,000
To gross profit ¢/d 4,83,000

42,15,000 42,15,000

To administrative expenses 95,000 By gross profit b/d 4,83,000

To selling expenses 2,25,000 By sundry income 5,000
To net profit 1,68,000
4,88,000 4,88,000

The costing records show :
(a) Book value of closing stock Rs. 7,80,000

(b) Factory overheads has been observed to the extent
of Rs. 1,89,800

(c) Sundry income is not considered

(d) Administrative expenses are recovered at 3% of
sales

(e) Total absorption of direct wages Rs. 2,46,000

(H)  Selling prices include 5% for selling expenses.
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@M GHUELL e, sars@gl ufCsrgaT sreamleriiy,
9GS Hssars@ sm(Hb @rub ep.1,68,000. e HCs
Y TIg D DL SHelene FewTsElerilg TULD 6F.2,40,000. @QbHS
@eLGeuealssrar srrabsl @ NE, FHslHb ULl igud

swni Qgiw Gerelpb elleurhise eulphisliLIL (heTeTer.

eSlwmumy wHmiIb @eru BL L& Sard,

aSleurid €. €.
Csm_sss srasiBLL 8 20,000 elDLIMET 34,65,000
GameTpgd 24,72,000 @0 #1868 BIY  7,50,000
Gy sadl 2,30,000
Glorgg Gamuib 4,80,000
42,15,000 45,15,000
Blireurgs 95’000®mrr§5‘5_5 @emub 4,83,000
Qave el seT
dpuenar dewalseT 9 25 000 LTSS @IHLOTET 5,000
Hlsy Gemuib 1,68,000
4,88,000 4,88,000

SL&sMene 6L iqeirLlg
(@) @QméF sradmrdean Lsss WAL ep.7,80,000

(<) QsmnaTena CuohQewa|s6r TSI L g)
¢%5.1,89,000

(@) Owrss eumbraNd sardsdlL L eldeama
(FF)  Hlfeunss Qeeeser, ellhuamearuied 3% semsdl il L g
(2) Qwrssrs Fissliul L Chrgéamel ¢p.2,46,000

(2ar) &lpueer  aleeuiléd 5% Apuewars  CFeeyld
SILBIS L 6ETerg).
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D-8595 Sub. Code
31024/33524

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Second Semester
FINANCIAL SERVICES
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  What do you mean by financial services?
B8 Ceameuser upd B <idleug) ereirer ?
2. What is primary market?

(PSSTEMLD LIThI@E FHES GTGTDTE) 6TEHTE ?

3. What is secondary market?

@ rearTL_mb Hlened LitiE, Fhend GTTmTE 6T6imen ?
4. Write the innovative financial instruments.

yglenwwrer & LmkiE s@mellaamer er(psgis.

5. Mention the few finance companies.

BlE Blmeiarmbser docuham er(pgis.

6. What is leasing?

GHSSG GTETMHITE) GTGTET ?



10.

11.

12.

Define mutual fund.

ugevLy HlE euenyuimi.

Write types of takeover.

@SWSIL(HSHIGD QUHEHMET 6T(LHSIS.

What is the objective of SEBI?

SEBI Wer Cprésid eremmmed erebren ?

What is chit funds company?

SBlE Hlmieuerid erammmed erebmen ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

(a)

(b)

(a)

(b)

Distinguish between primary market and secondary
market.

s shang WHMID @rerLmbd Bleane &hangudler
Caumpurhiser wrene ?

Or

What is the necessity for financial innovation in a
company?
em Blneasde ygmwvwrear HHlud  Csaeu

GTGITMITG) GTEITET ?

Distinguish between money market and capital
market.

HlE sheng OHmID epegsar sHang CoumubOss srems.
Or

What is the importance of global integration of
financial market?

BlE  shevsller 2 setmellu  epmmiSlanentLider
WPSH WS eTeme ?
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

What are the functions of SEBI?
SEBI Wer uenflaeT erever ?

Or

What are the functions of hire purchase financing?
urLeng Camarpsd HlHuller Lantsamer 6r(pgis.

State the objectives and benefits of credit rating.
sLar HIIH ewiber Crrésnd WwHMD LWeTEET
cllemd @ s.

Or
Write the role of portfolio manager.

Cumir_GuredllCuimr CemerT LIBng 6T(ps)s.

Classify the mutual funds.
ugevuy HlEluler euansuHESIs.

Or

What is the importance for export financing in
India?

@ndwureler ghmindl BlHuller wpsdlwgied ererer?
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Discuss the functions of stock market in India.

@pdw ukiE shensuler Lamilgamer aflound).

Explain the functions, strength and weaknesses of
finance companies.

B8 Sneuamtseier uamflaar, LD wWHHID L®eIaTEIGMmET
clleTé@s.
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18.

19.

20.

Write notes on : (a) LIC (b) IFCI (c) IDBI (d) UTI (e) GIC.

A @iy epgis (o) LIC (<) IFCI (g) IDBI (w) UTI
(20) GIC.

What are the functions of commercial banking?

aanlls curidlgaien LallGamar erammed e ?

Discuss the regulations of mnon-banking financial
companies in India.

@ndureier  eumdulwe  HlH  smprgs  Hlmeuarsslen
lSlparmaer elleurd).
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D-8596 Sub. Code
31031/33531

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Third Semester

INVESTMENT ANALYSIS AND PORTFOLIO
MANAGEMENT

(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. What is investment?

(PSS ([ GCTGTMHTE) 6TEITET ?

2. What is speculation?
DETHBIGET GTEITMDITED GTEITET ?
3. Define risk.
LSS QI TULIMISGSHE]LD.
4. Define preference shares.
er@iflenld Liki@Gsamer euen L ni&HsHe]b.
5. What is mutual funds?
O FFOUED coLIGRT(DGET GTETMITED 6T6TET ?

6.  What is anoption?

GHl(BLILILD GTETMTEL GTebTewT ?



10.

11.

12.

What is meant by future?

GTHTHTD GTETMHTE) GTETET ?
Define single factorials models.
ebhan sTrewt wrdlfamer cuamTLm&ESHa|D.
What is the capital market line?
epsar shang CHIea ETETMTE 6Tebren ?
What is meant by portfolio audit?
Cumr_GurelCuir ganflsens erammmed eremme ?
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).
(a) Distinguish between speculation and gambling.
sar5LD OHMID GHSTLLSd CoumHSHInIsET.

Or

(b) What are the factors influencing investment?

PSS L@ sryentlsdr ererer ?

(a) Explain the new issue market in India.

@ndurefer umiE LFw Qesallui(h) shangenw allerd@s.

Or

(b) What are the difference between the equity shares
and preference shares?
adeillly  URi@GseT  Hmb  peraiflenn  uki@GseT
Caumupsgls.
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13.

14.

15.

16.

17.

(a)

(b)

(a)

(b)

(a)

(b)

Explain the real estate.

flwed erevGLL e efleTé@:s.

Or
What are the components of investment analysis?

WPSDL(H LGLUTGHET FamsaT cremnmed eTerer ?

Distinguish between futures and options.
erdlitsmed wHmIb edlmrLnkisamer CoumuOESIs.
Or

Explain the single and two factorial models.

@bhep wHML @rearh  sTrew wHmI  wrHisamer
ollaTsGs.

Explain the formula plans.

&5S5l7 S Lhser aflens@s.

Or

Explain the Capital Asset Pricing Model (CAPM).
epegar Cansg ellene Hliewr wrdlf aflersEs.

SECTION C — (3 X 10 = 30 marks)

Answer any THREE questions.

Discuss the various types of investment.

LGeum euamswmar psedl a1 uhHdl eleufsseyi.

Explain the SEBI and its role and guidelines.

SEBI wpmid  oigem  umi@ oHOID  efsT (HSosamer

aleuflésalb.
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18.

19.

20.

Explain the listing of securities.

usSrmgefler L g allers@s.

Discuss the fundamental analysis.

SlgliueL uGliumiemeils upml elleurdlésayb.

Discuss the Lagrange multiplier method.
orsCreps umsd weperwit uHMH elleurdlssea|b.
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D-8597 Sub. Code
31032/33532

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Third Semester
FINANCIAL MANAGEMENT
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  What is financial management?

Blg Ceremento eremmmed creme ?

2. What is dividend?
LIMIGTEMUILD 6TGTMITE) 6T6oTer ?
3. What are the components of working capital?
B@L (D (PSHQD FonDI&HET GTETDTE GTCIG ?
4.  Mention two importance of capital structure.
Wsd sLewlilbder @ramh (PsHWSHeISMmS 6T(PSIs.
5. What is a right issue?

o Meww Qeuefllip erermmed erebre ?

6. What is capital planning?

ePOFET S L LD GTETDTEd GTebmen ?



10.

11.

12.

What capital budgeting?

6| F6| PPOSETD GTETHTE) CTETET ?

What is leverage?

2 bGIGED GTEITMITE) 6T6HTEwT ?

Define FOREX market.

FOREX sheng cuanyuim.

What is letter of credit?

Qe s Siflig L eTeTmmed 6TeiTeyr ?

SECTION B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

(a)

(b)

(a)

(b)

What are the objectives of financial management in
an organisation?

em Bloeasdd HlF Cuoeorarawulear Crrésmser
Wreney ?

Or

Write the types of financial management.

BlE Coeramennudler euaSSMmaT 6T(LHSis.

What are the factors determining capital structure?
WSS sLLeblemu  STorelés@d  sryeilsdr
wimeneu ?
Or
ABC company has the following capital structure :
Particulars Rs.

Equity share capital 10,00,000

10% preference share capital 10,00,000

8% debenture 12,50,000
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13.

(a)

(b)

The present EBIT is Rs. 5,00,000. Calculate the
financial leverage assuming that the company is in
50% tax bracket.

ABC fipeuangden (pgedl (h SL_LanoliL]

edleuymhiger erh.-
FMSMTERT LIkIE, (PSE 10,00,000
10% (pereflantols L@ (Lpged 10,00,000
8% sLaL_(HI LSS LD 12,50,000

sHGurensw EBIT ep. 5,00,000. flmeuard 50% eurfl

goLildd  @muustas  smd Bl sipHlus
Qearaiailenws Haudss (Hmisar.

State the dangers of inadequate working capital.

Cungibrer Bl (PeD PPOSETD @) MgSTed 6rhHL(HID
S LSZISEETE Tl

Or

Ravi Ltd., has a policy of maintaining a minimum
cash balance of Rs. 5,00,000. The standard deviation
of the company’s daily cash flows is Rs. 2,00,000. the
annual interest rate is 14%. The transaction cost of
buying or selling securities is Rs. 150 per
transaction. Determine Amit’s upper control limit
and return point as per Miller-Orr model.

gafl AIQLL flmeiard Geonbsuls Crmés @@Ll
€. 5,00,00083 Lpmof& @b Qsmatensawis
Q& mesr (HeTerg. Hlmie e g er Sanal Qrrés
UL nigafler Hlevoownar eflesd ap. 2,00,000 @Lb.
Q) eully NHSD 14%. LSHTHRISEDET GUTHIESHE0
Sdeg  epusharer ufleurssamer CFwe| 6
ufleurssmers@ fh. 150 W @h. Wldm-gf wrdlflufer
g  blsdHer 285 sSU(HUUTL(H by  WHmIb
Hmwutr Qumid yeareflaw Srorafsseyb.
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14. (a)

(b)

15. (a)

(b)

Write a short notes on :
(1) ARR (1) IRR (iii) NPV.
SnEniiLy euemys

(1) ARR (i1) IRR (i1i) NPV.

Or

Define leasing. Write the types of leasing.
GSSME UMTWM. &S5SMEUNCT UMSHEMET 6T(LPGIS.

State the types of leverage.

2 H&I0I6T CUANSHENET CT(LPGIS.

Or

XYZ Ltd., produced and sold 1,00,000 units of a
product at the rate of Rs. 10 per unit. For
production of 1,00,000 units it has spent a variable
cost of Rs. 6,00,000 at the rate of Rs. 6 per unit and
a fixed costs of Rs. 2,50,000. The firm has paid
interest of Rs. 5,000 at the rate of 5 per cent and
Rs. 1,00,000 debt calculate operating leverage.

XYZ OBQLLrL, @ well@&d . 10  eremm
AlgsHer 1,00,000 waill 2 pusd Gsuig ellbLener
Qelgg. 1,00,000 well o husHésE ep. 6 erern
M&lgsdled ep.  6,00,000 wrHE CFwemeuw|hd, .
2,50,000 Hlevoowrnar Ggwamelwd OCFwaill (HeTerg.
flmeuard 5 sgeis Mdssdlad p. 5,000 Ul igenwiLd
¢h. 1,00,000 sLanarud Cgggdlujererg. Gewdum’ (b
SbHluE Agwmeuamianws seamrsd (HIniger.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

16. Explain the contents of financial management.

Blg Coeramanouler Cummer _samiger LbHDl 6dlerd@s.
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17.

The capital structure of the GM corporation Ltd., consists
of an equity share capital of Rs. 10,00,000 (shares of Rs.
10 per value) and Rs. 10,00,000 of 20% debentures. The
sales increased by 25% from 2,00,000 units to 2,50,000
units. The selling price is Rs. 10 per unit. Variable costs
amount to Rs. 6 per unit and fixed expenses amount to
Rs. 2,50,000. Income tax rate is assumed to be 50%. You
are required to calculate the following :

(a) The percentage increase in EPS.

(b) The degree of operating leverage at 2,00,000 units
and 2,50,000 units

(¢c) The degree of financial leverage at 2,00,000 units
and 2,50,000 units

(d) The degree of combined leverage at 2,00,000 units
and 2,50,000 units.

GM  srriuCGregenr  OIBIGL L Ig6T  ppesar  enoliL]|, .
10,00,000 UMBE pOFasmsLD (bHULsE ep. 10
UBI@&S6ET) ep.  10,00,000 20% &Lem USSThISMmeTL|D
Csrarhererg. elpuenar 2,00,000 weaill (Hsaled(hbg
2,50,000 well(h&erns 25% dlafsgererg. elNbHLener
dlened wWalll h&@ ep. 10 wrhl Ceweyser welll (hH&E p. 6
5a|b.  Bloowrar Osweajser . 2,50,000 YHe|b
@m&@WL. eumbrear afl eldlsb 50% erarn &MHSLILGS DS
Bruser ereupeuameupenns senrddl GCeuemr(Hib.

(<) EPS @ gs6is sy

(<)) 2,00,000 SO@GSET LOHMID 2,50,000 AOGS6TD
Qeweur () ibblus teoreiamiluler oy

(@) 2,00,000 S@GSHET WLHMID 2,50,000 S@Gs6aid HS
SbHlwg Dgwmeuaniluier =emey

(FF)  2,00,000 SO@G&HET LOMID 2,50,000 a@saflad
Rhdmeants oibHlws CFomeueamiluler 6re.
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18. From the following information, calculate the operating
cycle in days and amount of working capital employed.

Period covered 365 days
Rs.
Total production cost 11000
Total cost of sales 12000
Raw material consumption 4600
Average total debtors outstanding 500
Credit sales for the year 15000
Value of average stocks maintained :
Raw materials 340
Work-in-progress 380
Finished goods 280

Amount given represents lakhs
Yereupd  Hseusadl(Hhg, QWEs spHHew BT GET
LHMILD Liewof] PO S TS S bt <266y < Hlweubmled

FTGS) ( MBI HET.
SMeLD 365 BT &6T
€.
Qwrss 2 HuSSH GFway 11000
Qrss aipuemear GFwa] 12000
epLICLMmHET BHIsT6y 4600
gynafl CQwrss sLammatlser Hlaeneluded 500
sLen ellhuenar <aT[H&S, 15,000
ugmofsstiu@b syref @ liysatien wdlii :
epLICLImBLS6T 340
Qeweumiged 2 dTeTenal 380
WPLsEIUL L QurpLger 280

Qar@ssiiul L Qgrens ol ghigamers @N&sng)
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19.

20.

Describe MM dividend theory approach.
MM unisrgmwid Cami_um® Hemi@pen 68le6rs@s.

Two components, A and B are used as follows :
Normal usage 4,000 units per week each
Minimum usage 2500 units per week each
Maximum usage 5500 units per week each
Reorder quantity A : 4000 units; B : 5000 units
Reorder period A :5to 7 weeks; B 3 to 5 weeks

Calculate the following :

(a) Reorder level

(b) Minimum level

(¢c) Maximum level

(d) Average stock level.

@\resr(H Fo M SHET, A LOHmILD B G 6breu (HLOTM)
LweTuhSsLILBEerner :

FMgmyenT Lwerun( eumrsSlHE@& 4000 60 GaHeT
GDBSULE Lwerur® eumysslih@ 2500 e @&ser
SSlsuls uwetur(h aumrsSnE 5500 60 ESeT
wnieuflens emey A 1 4000 o @&s6T; B 1 5000 @@ser
wmeifleos srebd A @ 5 wpsd 7 errmsean; B @ 3 wpsed
5 GUMyRIGET

Yereu(HeuaTeLDEME SEmTdHS (HBISET.

(<) wneuflens Hlene

(<) GdDBSULE Hlene

(@) =dsul s Hlee

(FF)  gymaf uni@ Blane.
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D-8598 Sub. Code
31033/33533

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Third Semester
PRINCIPLES OF PERSONNEL MANAGEMENT
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. Define personnel management.

vesflumeri G TETEND eTeTmmed eTea ?

2. State any two objectives of personnel management.
uenflwrert Gueonamenouller @ramh Wpedlw Crrésmisamer
GINSIGES

3.  Mention any two methods of job evaluation.

Ceuanaw wH LIS 1q6r Qe (pevpseer GDILILAGHS.

4.  What is Human resource planning?

weflg euer L LIS 6 eTemmmed ereimey ?

5. List any two principles of organizational structure.

Bimieuer sjenwiiber @rear®H Casraranssamer @GDILIGHs.

6. Define recruitment.

< CFITLIL| GTETMTE) 6TGITET ?



10.

11.

12.

What are the essentials of a good training program?

em &pbs ulps SlLsder sHwuneudlu  obFmIGET
WITEnEU ?

What is performance appraisal?

Qewedper HIEH eTaTTe eTese ?

Define motivation.

MGG L6V GTEITMDITC) GTEITET ?

Mention any two causes of absenteeism.

Cauaned sellTiiLgHaTer @remph sTreuhsamen &Ik 6Hs.
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).

(a) Explain the functions of personnel management.

uentlwmert Goenamanouler Cewdurbhemer allars@s.

Or

(b) Discuss the role of personnel policies in an
organization.

NG) Blimieuarsgled et wmerir Qametenaud e
wsIwusglasams aleufl&sse,b.
(a) Describe the process of job analysis.

Ceauaned LiGUUMTLIG BanL_(pennenil aql6ms@s.

Or
(b) Explain the advantages and disadvantages of job

evaluation.
Ceauame WwHUGL g6  BemapogeT LHHID  SepdSHEnET
ollaTsGs.
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13.

14.

15.

16.

(a)

(b)

(a)

(b)

(a)

(b)

What are the factors influencing human resource
planning?

wefls oot FHLOLeos Srorels@hd sryaflser
GTGOTEOT ?

Or
Explain the process of human resource planning.

weflgeuer S L0l Cewudapament 6dlerd@s.

Discuss the different types of leadership styles.

samoesglel Limaflsater cuamasamer allelfase,b.

Or
Explain the theories of motivation.
sarggeplLed Camiumpheamer allars@s.
What are the causes of grievance in an
organization?

o0 Hoeagded  gopEmpd  gpubesHeTer
sryanThisaer elleuM&Esalb.

Or

Explain the concept of collective bargaining.

& Cussearisasuiler smoams 66Ts@Hs.
SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Explain the various managerial and operative functions
of personnel management.

uenflwmrert Gueremenwuder Hlireurs wHmD  Gewuedum(H
uentlsener allems@s.

3 D-8598




17.

18.

19.

20.

Describe the different steps involved in the selection
process.

Csitay Qawepenpuien GeucuGeum Hlenawsaer alleuflésalb.

What are the different methods of performance appraisal?
Explain with examples.

Qewddmesr & LIS g 66t LCoumy (PEBDSEET
THS58I5ST_(H&@HLeT 68l6TsHEHs.

Discuss the factors and principles of wages and salary
administration.

gbuerd wHmD  eaflu  Blreursgder srreanflEer WHMID
Qararemssaer alleufssalb.

Explain the objectives, scope and importance of personnel
audit.

uenflurert sawsdler Crrésmser, Gewd Geuafliump wHmiIb
WsHwsglausms alers@s.
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D-8599 Sub. Code
31034/33534

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Third Semester
CORPORATE ACCOUNTING
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1. What is meant by issue of shares?

urii@, Qeueflui® eremmmed ereires ?
2. Write short notes on underwriting.
T(PSFHIMS eTpSH LD Hm GDILSMET 6T(LPGIBISGET.
3. Define sinking fund.
PG Hldew cuenyumisEsea|b.
4. Write short note on managerial remuneration.
Blreurs sardluid ubHdl Sm GOILL eTpSIBISET.

5.  Define amalgamation.

FOEE! CTEITLIMS QUM TWIMIGSHE|LD.

6.  What is meant by external reconstruction?

Qeuefliym WIS LaLIL GTETDTE) GTETE ?



10.

11.

Write any two reasons for winding up of a company.

@m Boeuernd epLliu@ueugdHastar  gCsed @ yer(
STTERTRIGENGT 6T(LPGIMISET.

Write short notes on banking.

cuaidlufwicd udHml Sm GOILLSET eT(LPGIBIGET.

What is IFRS?

IFRS erésmmed erevrenr ?

What is meant by HRA?

HRA erempmed erebre 2
SECTION B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).

(a) Akansha Ltd., was formed with an authorized share
capital of Rs. 1,00,000 divided into 10,000 share of
Rs. 10 each, payable Rs. 2 on application, Rs. 3 on
allotment, Rs. 4 on first call and Re. 1 second and

final call. Pass necessary entries in the books of
Akansha Ltd.

Sgaragt QG ep. 1,00,000 rEsM&sril L
LUBI& CPOSTSSIL 6T 2 (HheuTsslILL LGl eelblelmermib
¢h. 10 wlliyerer 10,000 UkiGSeTTaEL AMNGsILL L g).
MameriiugHed . 2, @GS IGH @ 3, WPSD
Siemplibe . 4 wHMID @radTLTeug LOHMID @ mid
Septle e 1 Oeqss CeuamBb. semauT
NG ig6r Ysgsmsailey Csemeuwmear o drat(hsamer
Si@ILIL@|LD.

Or
(b) Explain the following :
(1) Shares issued at par

(11) Shares issued at premium

(i11) Shares issued at discount.
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12.

(a)

emeu(meuameuhenn 66T @ mIGeT.

@) s eweulled GeuefludiL Ll L Lki@saser

(1) GftwsHer Qeuafuliul L Liki@ser

(1i1) semEpUIguiD EUPBISLILIL L LIkIGSET.

From the following particulars, determine the

maximum remuneration available to a full time
director of a manufacturing company.

The profit and loss account of the company showed a
net profit of Rs. 40,00,000 after taking into account
the following items :

Rs.
(1) Depreciation (including special
depreciation of Rs. 40,000) 1,00,000
(i1) Provision for income tax 2,00,000
(i11) Donation to political parties 50,000

(iv) Ex-gratia payment to a worker 10,000

(v) Capital profit on sale of assets 15,000

Yeieu(mLd eNleurrisetedl(BHE!, ) 2 HuSS)
Byeuasdler  wwCHr QUsESEHEGS JoLsED
Sfsul s sarfluisamnss Sioreissa]b.

Yemau(pd 2 (HLiLigsmaTs samsdld r(hHsgds Clameamm
Y@, Bneuarsdler wru peyl & SardHd, (. 40,00,000
Bl&r orusmss Sriiguig) :

€.
() Gswwrend (. 40,000 fpiy 1,00,000
Cawibrerd o L)
(i) emwrar aiflssrear g&se 2,00,000
(iii) TAWD HU8l&EHd @ herbsmanL 50,000
(v) @@ desrperalss smmans dgsrms 10,000
(v) Genggissmer allpugen ppald &laL &@Lb
gpeSer muib 15,000

Or
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13.

(b)

(a)

A firm earned net profits during the last three years
as follows :

I year Rs. 54,000
IT year Rs. 60,000
Il year Rs. 66,000

The capital investment of the firm is Rs. 1,00,000. A
fair return on the capital having regard to the risk
involved is 25%. Calculate the value of goodwill on
the basis of e years purchase of super profit.

SLHS epern yarhsefed e Hlmeuarnd Blay emub
mllgWwig GeTel(mommy

IeumLib  em. 54,000
IT qu@pLtb  em. 60,000
III cupLb em. 66,000

Blmeuarsden eposar PpSdH . 1,00,000. @Sled
o dTer YLISMS HHSSH CasreanmB cposarsder Hsmer
Blumumorer  eU@BLIRIDd  25%. @GUUT  @rugadg e
SarhseT eummSuger gl ulld  BHedble e
wHIMLE SaT&Edl (HBISET.

From the following information prepare liquidator’s
final statement of account.

Rs.
Cash at bank 1,00,000
Surplus from securities 10,10,000
Expenses of liquidation 30,000
Liquidator’s remuneration 7,000
Preferential creditors 2,00,000
Unsecured creditors 7,00,000
Preference shareholders 1,00,000
Equity shareholders 1,00,000
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(b)

Gemeu@md  saeudsaiadlmbg sameliurerilear  @mdls
s @ SiNsmsmus swmilEseab.

€.
aundlude Qrméssd 1,00,000
ugdrisallamhg o L 10,10,000
sl CFeyser 30,000
seveliumerfler argluib 7,000

pare@iflenln sLET eUPmIEGHTSEET 2 00,000
UTGISTULDD SL60T QUPBIGHTSET 7 00,000
pereflentd LIkI@&ESTTTaeT 1,00,000
LITRI@ LMKIGSTTT&eT 1,00,000

Or

On 31.12.2003 X Ltd., acquired 80% equity shares of
Y Ltd., The profit and loss a/c and General reserve
balances as per balance sheet of Y Ltd., Prepare on
31.12.2003 amounting to Rs. 6,80,000 and
Rs. 1,44,000 respectively. On the date of acquisition
of shares the assets of Y Litd., were revalue and gain
of Rs. 1,20,000 was found out. Calculate capital
profits and revenue profits.

31.12.2003 jarm X AL, Y QL1 qer 80%
mselllly  umi@Gseer  eummdug. Y  eSl@LL
@muyblenes @dluderig  @TUb  HHID  Heigl
sas@ Wwomb dumg @@muy Hlaimeisar wpanCGu
31.12.2003 ¢m. 6,80,000 WOHMID ¢F. 1,44,000 .
uiGsamer aswslLhSHL Cadlufler Y a6l L g6
Qersgisaser wHLAHLIEH QEFuwiulH ep. 1,20,000
orul  sE@TLOWOULL gl  epOFar @MU  HmIbd
QU(RHEUM TLISENSS FHeTdd (HBISET.
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14. (a) Prepare profit and loss a/c for the year ended 31st
March 2003 of NEW bank Ltd., from the following

particulars.
Particulars Rs.
Interest on cash credits 1,60,000
Interest on loan 2,50,000
Interest on savings 1,50,000
Interest on fixed deposit 1,90,000
Interest on overdrafts 70,000
Payment to employees 1,50,000
Discount on bills discounted 40,000
Rent and taxes 5,000
Commission, exchange and brokerage 15,000
Audit fees 10,000
Director’s fees 20,000

Wemeuqmd elleurmisetedlmbg Hlw, Cums G 1q 6
WM& 31, 2003 &M (PG H <,600TIq HETET GOTLI
BeuL & SaTEmss SWTMEsea|b.

SleUThIGET .
QIrés eUTe|s@Eh&ETEr 6L g 1,60,000
sLem BsTar eul_ig 2,50,000
Cellliys@pésTar el lg 1,50,000
Hlevoowinar eeuliLs0sTeanssaETar cuLl iy 1,90,000
QAU 1qJ Mool IL_G(@H&STET GUL I 70,000
sarflwiiis@pdsTear CamhLliLeaey 1,50,000
SeTERUlg Gelwiil L 908 EpssTar SeT@EpLly 40,000
QUTLand WHMID euiflger 5,000
slager, LUMLIHOD WOHMID SrE& 15,000
sanfl&ens &L L_amrld 10,000
@uis@piler &L LarTbd 20,000
Or
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15.

(b)

(a)

The revenue account of Ajantha life insurance
company showed the life fund at Rs. 7,80,000 on
31.3.2002 before taking into account the following
items.

Claims intimated but not admitted Rs. 80,250
Bonus utilised in reduction of premium Rs. 10,500
Interest accrued on investments Rs. 25,250
Outstanding premiums Rs. 20,000

Claims covered under re-insurance Rs. 35,000
Provision for taxation Rs. 19,500

Pass journal entries giving to the above adjustment
and calculate the correct life fund.

QDBsT  Quear  STUSLH  Blimeuarsder  eumeuT
EWTES, G 6treu(mLD 2 (HULIG&EETE ST ed
THSGIECsTaTUSNE (6T, 31.3.2002 ETM pU{6T
BlE) em. 7,80,000 eramnd SMiguig).

SiMlelilGslILL L g) DL RTTE SIS ESIULTS
o flenCamyevger em. 80,250

Gfllws @epuldd vwearu@ssiurL  Cumere
. 10,500

wsShsafd Syl LiulL eul iy . 25,250
Blayemeuuda o arar GAfSlumisEr en. 20,000
omsTI g6 i o drar 2 NapwGasTresdr . 35,000
aufledfliiysasrar 550 p. 19,500

Copsar.  gllsiigame b (pedpLLBSHID  LT6
sifaredd 2 arafhiser wHmb sflwurer opujer HlHaws
SETSS (h) MBI HET.

What are the advantages and disadvantages of
IFRS?

IFRS @)eir pertenoaser HMID SEOSEET creme ?

Or
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16.

17.

(b) Explain the importance of human resource

accounting.
wefs Guer & 6T W 60l 6oT W&HwsgeSms
Nl 6T (&) BIGET.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Write the difference between amalgamation and
absorption.
BOEEUHGLD 2 D Eh&HSNI&H LD o e CoumumenL

GT(LPGI Ml &HET.

From the following balance sheet of H Ltd., and S Ltd.,
prepare minority interest and consolidated balance sheet.

Balance sheet as on 31st March 2018

Particulars Note No. HLtd. SLtd
Equity and Liabilities
Share capital - Rs. 10 each 5,00,000 2,00,000
Reserves and surplus 1,00,000 -
Trade payables 80,000 60,000
6,80,000 2,60,000
Assets
Fixed assets 5,60,000 2,60,000
Investment 60% shares in
S Ltd. (at cost) 1,20,000
6,80,000 2,60,000
8 D-8599




H Ltd., wombd S Ltd, @er Gereumd @mLyblanes
GO mBg  Smureareny  eully LHMID  QHEISM@THS
@muyblaas @llimus swumissalb.
g 31, 2018 BHlevaurliLiy @mLULblanevd @dlienL.
oMU mhis 6T GO oT& 6TV
GramT P20 1) [ T - 1) (A [

umki@ LHOID CQuUTmICIL&eT

LIMBI& CPOSETLD - ST ¢h. 10 5,00,000  2,00,000
Q@uy wHmib 2 U 1,00,000 -
wigEss Coss Coudmmyuimal 80,000 60,000

6,80,000  2,60,000

QETEg)&HaeT

Blevawirar Clanggéaer 5,60,000  2,60,000

eTe WG L1960 60%
LuBGseid e (Hemaie) 1,20,000

18.

6,80,000  2,60,000

Goodwill Co. Ltd Took over the assets Rs. 1,75,000 and
liabilities of Rs. 15,000 of Raj and Co., for the purchase
consideration of Rs. 1,65,000. Goodwill Co. Ltd., paid the
purchase consideration by issuing debentures of Rs. 100
each at a premium of 10%. Give journal entries.

GLeller Cam. MG, prey e Cameiler ep. 1,75,000
Qerggid&esem OHHID H. 15,000 QUImLiLsamer ep. 1,65,000
Qarerpsd LffvmarssE aOsgs QasrarLg. GLelay Car.
OIGLL. 10% WiBlwsHed eeuGoumammid en. 100 &Lt
ugdrmsamer  Geuaflldi (@ Qsmearapse,  uffwearanw
Qegusdwug. usdflens 2 drafhasmer QaT@HhisaT.
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19. From the following information relating to Lakshmi Bank
Ltd., prepare the profit and loss a/c for the year ended 31st

December 1987.

Particulars

Rent received

Rs. Particulars

Rs.

72,000 Salaries and allowances 2,18,800

Exchange and commission 32,800 Postage 5,600
Interest on fixed deposits 1,10,000 Sundry charges 4,000
Interest on savings bank a/c  2,72,000 Auditor’s fees 16,800
Interest on overdrafts 2,16,000 Printing 8,000
Discount on bills discounted  7,80,000 Law charges 3,600
Interest on current a/c 1,68,000 Locker rent 1,400
Interest on cash credits 8,92,000 Transfer fees 2,800
Depreciation on bank property 20,000 Interest on loans 10,36,000
L &L eumid ONAGILL Qg mL_frLimesr Yeieu(mLd
saeigefled(phgl, gebUT 31, 1987 CsHluyLen
PQAIMLBS  YPHTGOHETRT  @OMTL  HeH &  SAEDES
swmfl&ge] .
efeuryriser 5. Aeuriigen 5.

QMLes QUL L g 72,000 SbUETD WHMID DeTHUUaESE 2 18 800

uflordy wHmb sdlager 32,800 LT 5,600
Hleneowiren eneuliLg Cgmens sman aulig. 1,10,000 UeoGoum HL L anTraISeT 4,000
Callliy euaid) samtd@ WBgmear el ig 2,72,000 ell&mswimart s awTid 16,800
@ouit TSl Bsrer eul i 2,16,000 I8 056 8,000
Wéser BsTaT SeT@bLIg 7,80,000 S &L GwTraI&6T 3,600
SET@EHLIG. BLLIL| Saé@ Bgrer el ly 1 68,000 OT&ST 6UTL_ans 1,400
Qrrés cureysEhéETaT el iy 8,92,000 UMDY &1L awriiser 2,800
andl Qersg Bsrear Couiwmerd 20,000 SLETH@BESTET LIy 10,36,000

20. Explain the methods of Human resource accounting.

weflg euear sewréslueien (PepMEHEMET 6l6Td: @ BISET.
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D-8600 Sub. Code
31041/33541

DISTANCE EDUCATION

COMMON FOR M.Com./M.Com.(F&C) DEGREE
EXAMINATION, MAY 2025.

Fourth Semester
MANAGEMENT ACCOUNTING
(CBCS 2018 — 2019 Academic Year Onwards)
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  What is management accounting?

CeTamed STEHWQD GTeTDTed 6TEITET ?

2. Enumerate the common size statement.

Qumglaimer 9jeTe| SPNFmEemW LIl iq L6 (HEISET.

3. Describe the trend analysis.

Curée u@lurueame elleuféseb.

4.  What is solvency ratio?

sLen S| g eremmmed ereme ?

5. What is fund from operation?

Qeweuriged @Qmbg HlF erermmed eremen ?

6. Define cash flow statement.

LanTLIL| &S MSmasam eUenTLnI&sHea|b ?



10.

11.

List out current liabilities.

B Qurmitiysener UL g W60 (HkigeT.

What do you mean by budget?

cure| QFe6] LI IgUIeh GTETDTEd GTebmenT ?

Define marginal costing.

cflefliby Cleweney cuenTwm&GSHa|Lb.

What is break-even point (BEP)?
gwblene @i yetafl (BEP) eremmméd ereimen ?

SECTION B — (5 x 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).

(a) Explain the various tools of management
accounting.

Coeorareny  sawsdweler  LOCaum  sHelsamer
oNlaTsGs.
Or
(b) From the following profit and loss account calculate.
(1)  Net profit ratio
(11) administrative expenses ratio
Particulars Rs. Particulars Rs.

To administrative exp. 1,600 By gross profit 2,500

To selling expenses 300
To finance expenses 100
To net profit 500
2,500 2,500
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Gemeu(pLd ML Begl & SenTésledl(hhgl SanTéEdl (HhiGerT.
@  Hlsy oru Gdsbd
(1) BHreurss Gewe| llsD
cleurmhiger . cleurmhiger €.
Bireurs Geeeiser 1 600 @WLTEs @Tud 2 500
Apuenar Devalsdm 300

Hlg Qee|ser 100
By emu 500
2,500 2,500

(a) How will you classify the accounting ratios?

s llflgnisamen ereueumm euansiL(hSgeiTaar ?

Or

(b) The following details are extracted from the annual
report of Adhavan & Co., prepare a common - size
income statement for the purpose of comparison.

2019 2020 2021

Cost of material 200 250 150
Labour cost 175 150 200
Other conversion costs 175 140 150
Total manufacturing cost of goods sold 550 540 500
Sales revenue 950 1000 1200
Gross profit 400 460 700
Operating expenses 180 200 300
Profit 220 260 400

Qereupd  eleugruser Hm. ygeueanr & GCam.efler
QU(BLTHS T 9| Ml&anauiledl(mBHs) THSSLLLLmal,
eulheshsrs Cumg <jeTe] au@pLrar dsmEamws
swmf&seyLb.
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13.

2019 2020 2021

Qumper Gaway 200 250 150
2 anpliL Cgeay 175 150 200
9 wHp Cewe|sar 175 140 150
Quinplsafldr Gwrgs e pusdl teway 550 540 500
eNlHLET eu(HeTL 950 1000 1200
Qwrss @emulbd 400 460 700
Quss Cgwa|ser 180 200 300
@emuib 220 260 400

(a)

(b)

Distinguish between fund flow statement and
income statement.

B UL obsms wLOHMID eu@BLIRT DEMHSEES,
@ Gu 2 erer CoumumlenL Famis.
Or
From the following information calculate
(i) Break-even point
(i1) Sales required to earn a profit of Rs.10,000
Sales Rs. 30,000
Variable expenses Rs. 14,000
Fixed expenses  Rs. 13,000
emeu(mld saeucsaflel(hhgl seanrss (HmsET.
(1) swHleets Leafd
(1) em. 10,000 erub FLL S Coaneuwimer allbLiener
eldlhuenen em. 30,000
wroUGbh QFweyser ep. 14,000

Blevoowinar QFwe e ep. 13,000
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14. (a) What are the main objectives of budgetary control?
aurey Oewe uligwed slpHUumiger  wWpddlw
Crrésmhser ereme?

Or

(b) From the following profit and loss account calculate
funds from operations.

Trading and profit and loss account

Dr. Cr.
Particulars Rs. Particulars Rs.
To rent 35,000 By gross profit 9,86,000
To depreciation 3,000
To share discount 10,000
To goodwill 5,000
To preliminary expenses 6,000
To net profit 9,27,000
9,86,000 9,86,000

emeupld  TL Baul &  samdsdadlmbg CFueum ()
Bllepwis sanréd (Hriser.

eHlwmumy HMID @I Beiyl & Hers s,

L auray
efleurhiger €. efleuraiseT 1.

QUTL 6N 35,000 @w1Hs @b 9 86,000

Cauwirerd 3,000

LIMi(§ SET(@hLIlg 10,000

BHG LW 5,000

SigliLeL LFaser 6,000

Blar eruLb 9,27,000 _
9,86,000 9,86,000
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15. (a) A factory is presently working at 50% capacity and
incurs the following expenditure.

Rs.
Materials 1,50,000
Wages 70,000
Fixed overheads 80,000
Variable overheads 20,000

Semi-variable overheads (60% fixed) 30,000
Prepare a flexible budget for 75% and 100%.

em Csmihsrae sHGurg 50% dneafler QuinkiGdng
wHmb Wereumbd QFwe|samerd GFLIFng).

€.
QumpLs6T 1,50,000
G560 70,000
Blenawimenr GohHbsae|ser 80,000
wrou@b CuphblFae|ger 20,000

uEs - bruEL Gopbewalser (60% Hleowrars) 30,000

75% WLHMID 100%&GHw  Qpdpeurar eure] Gswey
Ul iguied swmilésayb.

Or
(b) Calculate cash flow from operating activities :
Rs.
Total sales for the year 10,00,000
Total purchases for the year 6,50,000
Commission received during the year 10,000
Office expenses for the year 15,000
Administrative expenses for the year 20,000
Income tax paid during the year 12,000

6 D-8600




16.

17.

Qeweur’ () BLelgsmasaladl(bbg LaTULLESSMmSS

STES (h MBI SET.
.
S arhsster Gorss eflHuemen 10,00,000
arhssTar Conss QameTpsd 6,50,000
< Tiqd GUpLILL L Slage 10,000
YBTHSHTT DQIeUevs CFaa|sHer 15,000
arhssrear Hlifeuns Cgwe|ser 20,000
QY aTigd CFSSLILIL L QU(HLOTET 6uifl 12,000

SECTION C — (3 X 10 = 30 marks)
Answer any THREE questions.

Distinguish between management accounting and cost
accounting.

Coorarend samrsdluicd wHMID LSS  Samdbdliie
S Fweupern CoumuBsas.

From the following information prepare a balance sheet
with as many details as possible.

Current ratio 1.75
Liquid ratio 1.25

Stock turnover ratio (closing stock) 9 times
Gross profit ratio 25%
Average collection period 1% months

General reserves to Share capital  0.20

Cost of goods sold to fixed assets 1.2

Capital Gearing Ratio 0.6
Fixed assets to net worth 1.25
Sales Rs. 12,00,000
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Gemeumd saeucsailal(mbgl (pigbseuany Lie 6Sleumis@nL e

@@ Qmmuyblanas @fllmus swmfléEse]b.
sHGuTags L lfsh

Sreu aldlsbd
F75@ au(heumll elflsbd (Qnid F75@)
Qs @eru eHdsibd

Fyrafl U@ STeLd

LkG eposaisdasrear Qurg @ Ll ssar

Blevawrer QersgsseEns@ elpsliu@b QummLsefler
cllenaw

gpesar Uupm eddsLd
Blevowner Qersgisser (psed Hlar wdli
Npuenar

1.75
1.25

9 wLrE
25%

1%

DTG I & et
0.20
1.2

0.6
1.25
5. 2,00,000

18. Prepare a cash budget from the following information for
the three months commencing 15t April 2021. On which

date the cash balance was Rs. 50,000.
Month Purchases Sales Expenses

February 40,000 80,000 7,200

March 45,000 85,000 7,500
April 38,000 78,000 8,000
May 42,000 84,000 9,000
June 50,000 95,000 10,500

Additional information :

(a) Suppliers supply goods at 2 months credit

(b) Debtors are given 1 month credit

(¢) 20% of sales constitute cash sales

(d) Expenses are paid in the month following.

8
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19.

emeumd sHeubsall(Bhg LT 1, 2021 (PS® epeTD)
LISBIGEH&EE @ Crmés ulldmlars surhéseb.
<BBTeted Cyméss @@Ly . 50,0008 @) (Hhsg.

rghiser Garearipgsed elhumar Clawe gser

Wiyeul 40,000 80,000 7,200
LDMTiTé 45,000 85,000 7,500
eFLIeD 38,000 78,000 8,000
G 42,000 84,000 9,000
gt 50,000 95,000 10,500
F(HSD HHEUD :
(Sf) FueeTwTgser 2 brg  sLald  Qumrmmlsemer
cupBIGE DTisEr

(<) sLamal&ERE@E 1 TS SL6T eUPBISLILIHE DS
(@) elpuearuier 20% CyréEs aflHUemaTTELD
(FF)  Qeowe|seT 955 LIsSHe CeassriLpIb.

A company has prepared the following estimates for the
year 2020-2021.

Sales 15,000 units
Fixed expenses Rs. 34,000
Sales Rs. 1,50,000

Variable costs Rs. 6 per unit
You are required to :

(a) Find out the P/V ratio, break-even point and margin
of safety

(b) Calculate the revised P/V ratio, break-even point
and margin of safety in each of the following cases :

(i) Decrease 10% in selling price
(11) Increase 10% in variable cost
(i11) Increase of sales volume by 2,000 units

(iv) Increase of Rs. 6,000 in fixed costs.
9 D-8600




20.

@M Hneard 2020-20219b YTy hsTar e
wHLIPsmars swrlsgearerg).

&l Lienar 15,000 s @ser
Blenewimen Clgeae|ser em. 34,000
eflhuener em. 1,560,000

wrpib dgwe|ser weafll (H&s e 6
Brager Qe Ceuarigwig

(=) PIV g, wiley gw yetafl wpmib ungsmier
cfleflby <y dweuhenmd seirLdlwie b

(<) Wemeumd eeubeumm Hlapedad Smssuur PV
&g, ey g yerafl whmib urgsTiier afleflby
Fuaipens sarsdlab.

@) epuear elleweuid 10% GHDESHED

(1) b dgweild 10% ey

(iil) elpuenar Sjareneu 2,000 Waill st Hsflssen

(iv) BHeveowrear Hgwajsaid em. 6,000 Hlafliy.
Distinguish between standard cost and estimated cost.

Blevowrar  Qewe] oHmid  wHIGLOULL QFee]
S fwueupern Coumubssis.
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D-8607 Sub. Code
33542

DISTANCE EDUCATION

M.Com.(Finance and Control) DEGREE EXAMINATION,
MAY 2025.

Fourth Semester

E-COMMERCE
(CBCS 2018 — 2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL the questions.

1.  Define E-commerce.

2. List any three benefits of E-commerce.

3. Name any four main components of E-commerce.
4. Mention any two types of E-commerce.

5. What is an Internet Service Provider (ISP)?
6. Differentiate between HTML and XML.
7.  What is E-marketing?

8. Name any two modern payment systems used in
E-commerce.

9. Define E-customer relationship management (E-CRM)

10. What is an Enterprise Information Portal (EIP)?



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)
(a)

(b)

(a)

(b)

(a)

(b)

Explain the functions of electronic commerce.

Or

Describe the process of E-commerce.

Discuss different types of E-commerce with

examples.

Or

Explain the impact of the internet on E-Commerce.

What are the wvarious activities 1nvolved in
E-commerce?

Or

Discuss the different types of E-commerce providers
and vendors.

What are the prerequisites of E-commerce?

Or

Describe the role of website communication in
E-commerce.

What steps are involved in designing and
development an E-commerce website?

Or

Explain the matrix of E-commerce types with
example.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Explain the scope of E-commerce and its future trends.

What are the major security threats faced by E-commerce
websites? How can they be prevented?

How does data warehousing support decision-making in
E-commerce?

How does Customer Relationship Management (CRM)
help business grow?

Explain the role of XML in E-commerce and its benefits.
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D-8608 Sub. Code

33543

DISTANCE EDUCATION

M.Com.(Finance and Control) DEGREE EXAMINATION,
MAY 2025.

Fourth Semester

RESEARCH METHODOLOGY
(CBCS 2018 — 2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks

10.

PART A — (10 x 2 = 20 marks)
Answer ALL the questions.

Define research and its importance in business studies.
Explain the key features of a good research study.
Describe the problem identification process in research.
What are the components of a research proposal?

Differentiate between exploratory and descriptive
research design.

What is primary data? List its collection methods.

What is observation as a data collection method? Provide
examples.

What are the measurement scales? Name their types.

Differentiate between single-item and multiple-item
scales.

Define questionnaire design and its process.



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)

Explain the different types of research designs with
suitable examples.

Or
What sampling method would you use and why?

What are the major challenges in designing a
questionnaire?

Or

Explain the data collection and analysis methods
you would suggest.

Explain the significance of hypothesis testing in
research.

Or

Write the suggest for research approach.

Compare and contrast descriptive and inferential
analysis of data.

Or

Explain the focus group discussion as a data
collection technique.

Explain the process of research report writing.

Or

Write about the importance of sampling research.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
Briefly explain the types of research methodology.
Discuss the research process in detail.
Discuss the methods of collecting primary data.

What are the elements of hypothesis testing? Explain the
procedure of hypothesis testing.

Discuss the process of writing research reports.
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D-8609 Sub. Code
33544

DISTANCE EDUCATION

M.Com.(F&C) DEGREE EXAMINATION, MAY 2025.
Fourth Semester

BANKING AND INSURANCE
(CBCS 2018 — 2019 Academic Year Onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer ALL the questions.
1.  What do you mean by recurring deposit?

2. Write any two duty for collecting banker.

3. What is meant by special crossing?

4.  What do you mean by insurance?

5. State any two importances of privatization of insurance
industry.

6. What do you mean by non-life insurance?

7.  What is meant by solvency margins?

8.  What do you mean by ‘Causa Proxima’?

9. Write any four policies of marine insurance.

10. What do you mean by insurance pricing?



11.

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

What are the different types of deposits?

Or

Explain the relationship between banker and

customer.

What are the procedures for answers to dishonor
cheque?

Or

Explain the structure of the insurance market.

What are the reasons for privatization of insurance
industry?

Or

Describe the role of financial reporting in managing
the insurance operations.

Explain the framework for IRDA.

Or

What are the different elements of fire insurance?
Explain the role of agents in life insurance sectors.

Or

Explain the importance of financial management in

Insurance companies.
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16.

17.

18.

19.

20.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

What do you mean by collecting banker? Explain the
duties of collecting banker.

Explain the relationship between insurance and economic
growth.

Describe the different components of distribution system
in life insurance.

Explain the principles of insurance pricing.

What is claim management system? Explain the claim
processing system.
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